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Candidates must write the Code on the
title page of the answer-book.
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o THUA H M TN H AR fU MU Sig TR Hl BH IA-YEH ® @I85 W
g |

o YA TTE B A foh 30 Y9 H 27 A F |
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T 10.15 & fopaT IT@TW | 10.15 991 T 10.30 S b D had YT I TeTl
3R 38 AT & GHF d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 19 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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POLITICAL SCIENCE

giRa a7 - 3 o2 S7feHaT 37% : 100
Time allowed : 3 hours Maximum Marks : 100
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Q=T 3397 :

G) @Yt ye7 A § | 39 F97-97 § HoT 27 I97 & | ¥-u7 gid @vs] 7
fayrfsra & |

(i) @U8 I § Jo7 G&IT 1 -5 % J9% Y97 Uk 3b & & | Id% J97 & I
20 52 & 371 787 &1 FET |

(iii) @UE § § Y97 G&IT 6 — 10 7% Ycd% Y97 @ 3] &1 & | IIH J97 HT IH
40 Jisz] & 371er% 787 F97 T0ET |

(iv) @UE T H J97 G&I7 11 - 16 TF 9% Y97 TR 3] H7 & | IIF J97 HT ITH
100 gl @ 3718 787 547 FIieT |

() @UE 7 H Y &I 17 - 21 % IF J97 Giel 3ih] #7 & | I J97 HT TH
150 &5t @ 37feres 757 &1 FIfT |

(i) @Y T § Y97 §&I 21 HHEGT W SYIRTG I & | 59 I 39T
FTH-GiEdhT 4 1e7/ET |

(vii) @Y€ T § Y97 &7 22 - 27 TF 9% Jo7 B: bl H1 & | Jodb Y97 HT I

150 7531 @ 3718 757 1 T30 |

General Instructions :

(1) All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

(it)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(iti) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv)  Section C contains Questions number 11— 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(v)  Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vii) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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SECTION A

1. 79 AU ATfdeh sqayr (TH.27E.3.371.) il ST W % YIE, 1980 %
T ok 3 b I He U Y ? 1
Why did the New International Economic Order (NIEO) initiative fade
away in late 1980s ?

2. 1989 H Hled 39 WA <l ygEH shitog forereh wrur ‘qadl g i qaw do

3fid g i | S | 1
AAgAT

fodr fava g & ofa o, smlien 1 Sigs Aifaad a9 it referawen AY fava
1 G H hal AUk foehfea off | Rt Tk 3IgET gRT 39 e Wi yEIM
HIT | 1
Identify the event that took place in 1989 which led to the collapse of the
‘Second World’ and the end of the Cold War.

OR

The Soviet economy was more developed than the rest of the world except
for the US after the end of the Second World War. Substantiate the
statement with any one example.

3. 3Md gg & AW % 91¢ URd — =4 T4l § AgaqUl dead T | Uy foRedt

Teh FecATd hl Jga hifaT | I
SDC]

e 1 g wum w0, Arie =R 4 foeq @ T a9 | e W@ | ™

fota & ™ @ o o 2 1

Since the end of the Cold War, there have been significant changes in
India — China relations. Identify any one such change.
OR

Britain’s former Prime Minister, Margaret Thatcher kept UK out of the
European market. Highlight the reason behind this decision.

59/4/1 3 P.T.0.
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Wd ¥ foh AR ol “[oramet’ gl STl @ 2 1

Who are considered as ‘indigenous people’ in India ?

5. “qrd TorHifa § Td-aea hl AT I ks SR ST UH AT U hl ifd % ®9
T ok fopan ST 2 17 38 hd &l =A¥ETd 38Usy | 1

“The practice of defection in Indian politics is many a times expressed as
the policy of — ‘Aya Ram Gaya Ram’.” Justify the statement.

Qus d
SECTION B

6. difoad @9 & fooed & uvemd, W IAUURN TR &1 91 fafew |
JAASET &8 | 39 TS T o7 T o7 ? 1+1=2

Name the republic that succeeded Soviet Union after its disintegration.

What was its position in the international domain ?

7. TR CA’H TS "SR TR B H 399 Tefiq faftrt 8 fyem hifsw éx4=2

&y ‘A’ &7 ‘B’
(a) Tgdfiw fava gg i) 1990
(b)  THAd T THAT (i) 1992
(¢) fToct fadies o1 wogufoes (i) 1941
(d) IS BEH (iv) 1945
A=
FrafaRaa geTet =1 3faa s faifa Fifse . L=

(a) ‘i e e 3 sita T T S g S0 T ST
(b) sl =1 3R AT H SAwishl gl W SHi <l el ST

(¢) dcs ¢S Tl & Iadl quT giaoft el W gHaAT

(d) S G HAd T ATHAT
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Match the following events in Column ‘A’ with their corresponding dates

in Column ‘B’ :

Column ‘A’ Column ‘B’
(a) World War 11 (1) 1990
(b) Kuwait Invasion (i) 1992

(c) Presidency of Bill Clinton (iii) 1941
(d)  Pearl Harbour (iv) 1945
OR
Find the correct sequence of the following events :
(a)  US invasion of Iraq under Operation Iraqi Freedom
(b)  Bombing of the US Embassies in Nairobi, Kenya and Tanzania
(c) Attack on North and South towers of the World Trade Organisation

(d) Iraq’s invasion on Kuwait

8.  “tadd WRA w1 W S forehe aRfefcdl § gam |” fohmdl Q1 3UFH dohl g1 39
%o 1 g Fifg | 1x2=2

HYAT

“ard o Ffae™ Fmiarsti 4 glafesa fean T foem qon s w= w9 #1
BT AMET 7 Toh hadl HS Teb oM 1 |7 30 HYA hl dgdl TATMUT S & aQ
F1$ 31 I deh AT | 1x2=2

“Free India was born in very difficult circumstances.” Justify the

statement with any two suitable arguments.
OR

“The Constitution framers of India ensured development and well being
of the entire society and not only of some sections.” Validate the

statement with any two suitable arguments.
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WY Torgl @ hiehl o1 foageisur hIfTT ST Iiferedre o &4 & T STer 9 | 1x2=2

AAAT
“gifhea™ S T STA NS AEH Tt off, W b S § s faehe
Hiergar 31 g8 |7 34 ¥ fohgl 1 sl st wase HIfT | 1x2=2
Analyse any two factors that led to the creation of Pakistan.

OR

“The idea of Pakistan might have appeared simple, but its creation
presented many severe difficulties.” Elucidate any two of them.

10. 1970 % <k H GHCS AT FRUIART & st 33 foheal 2l dawni<er AEA! <hl
RIS IRIES Eﬁ”\ar{ | I1x2=2

Highlight any two constitutional issues between the Parliament and the
Judiciary during the 1970s.

Qug |
SECTION C
11. U8 Tl 9r *ron &1 oo Hifse g mgrerfet & foie a1 < & @y
e ST 3TERFeh &1 fea | Ixd=4
3T
qRa 61 Te-Fuear it fifa 3 e @ alepl @ AR T fgat < e i 2
3 Aifq 1 ST o g < snur off fafay | 2+9=4

State any four reasons for which the superpowers needed smaller states

as allies.
OR

Mention two ways in which Non-alignment policy of India served its
national interests. Also write any two basis on which this policy was
criticized.

12. HYH UST ITHIGHI oh HEH(dh q9Ed hi fohral IR TIRISATSAT 1 JUH IR | 1x4=4

Describe any four features of the US hegemony as a Soft Power.

59/4/1 6



13.  <fUT TREN | Ahaizeh STIWa % fHel-gol Repie & STas[g, 39 ¢RIl hl Sl
S Y TArhas hi SATHIATST T TgUTH A g ? ISRV hl TR § AT
I | 4

Despite the mixed record of democratic experience, why do the people in

South Asian countries, even today, share the aspiration in favour of
democracy ? Explain with the help of examples.

14.  “TIH Tz G99 H NS HiEEt 7, Al s@ form g o off seerat 2t 17 5@
HYT HI TS HINTT | 4
FrTT

TIH TS T IMAh I & g Tde sHIT W@ § 3Eha = 8 ? T
ST | 4

“The UN is an imperfect body but without it the world would be worse

off.” Explain the statement.
OR

Why can the UN not serve as a balance against the US dominance ?
Explain.

15. HHSIAH favd & guer 31 91l gaterefiy guenst & a) ° 9rd 6 feufa =6t
e T | 4

Explain India’s position on the environmental issues facing the
contemporary world.

16. 1967 9 IAEI & qd, WRA hi 31fel feafq w1 ameped ST | 4
HAAT
1967 o 3T FATEl I HUF Ul h AT Teh TSN YT T hal T ?
fehrgl T ShIUN T TI&T HIT | Ix4=4
Assess the economic situation of India before the general elections of
1967.
OR

Why were the general elections of 1967 called as the political earthquake
for Congress ? Examine any four reasons.
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Qug T
SECTION D

17. = fu Tu s @1 syHgds stewE i it fefafad gwl % @
fafiau .

JATATARTA YA TSHIfd T Faifeeh faaeiae Yo & | 399 Th
U 2 AR hi HYON 1 FELT ol Aot [T v 1 81 | g0
SR I8 B Toh TP 7 Glayg™ Yoo TRl o1 SEAHT Hhich SATERIGh dil W
ATShdTTIeh ShTHSRTS! hl 309 o fadT o | SATUIdhIA o SI¢ T8 N o 3791
Site § 9 fop 38 ofafy ° §gd 9 ‘Afd g% | 6k ARk, WRA H ARhdd
T A & A8 T AYTaehId 8 FA-FIT e YRg 91 Tehd 8, 30 W )
-1 T firerdt 8 |
(i) 379 39 d2F U hal do HgHd & [oh ThR 4 Alhdi=eh sl ol H IEda

T fcfad ot fean o | his U IS8T et 3799 3T kT g\ hIfST |
(ii) YN U Alhad I ST @ & (8T & g Al & fheal ol

931 ! IATR T | 3+2=5

AT

H= U U STI w1 SAHYEH AT hifwg R FEfafEd Tt 6 IW
fefew .
TR 3 3 TSl o WAk Jde B AUTdehId’ <hl SO S €l |
25 54, 1975 % f¢7 TR 7 =ivon 1 foh g1 # STafieh TSl hHi SR §
3TR 39 b o 1Y 3T AU o TTT0¢ 352 i AN H fGa1 | 39 3T<sg
AT gau™ fham T B TSR0 1Uar ITeEAl MSSSl hl SRR B W
TEHR AT AT T Hehell & | TEhR 1 MU o1 Tob THR Hehe A1 ol
3T US! 3 37N 34 9918 © SATUIdehlcT hl HINUN F&L) 81 T8 3 | deheieh] ®9 §
@ T UET HEAT TLHR hl IRFAT o g | 9T, ifh gAR e H ThI hl
JTaTaeRTe <t feurfa # foey wieat wem i s 2 |

(i) TR hI G H IAIMHRIA hl eI AT L o T S1eq A et THR

Tehe o1 fagavor Hifu |
(i)  3TUTdRTA I HYUT B % qA 1, TWHR Hl IH BH A Tl q
Tt fomTiere <Y ug=m Hifs | 3+2=5
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Read the passage given below carefully and answer the following
questions :

Emergency is one of the most controversial episodes in Indian
politics. One reason is that there are differing viewpoints about the need
to declare emergency. Another reason is that using the powers given by
the Constitution, the government practically suspended the democratic
functioning. As the investigations by the Shah Commission after the
Emergency found out, there were many ‘excesses’ committed during the
Emergency. Finally, there are varying assessments of what the lessons of
Emergency are for the practice of democracy in India.

(1) How far do you agree with the fact that during Emergency, the
government practically suspended the democratic functioning
also ? Give any one example to support your answer.

(ii))  Highlight any two lessons of Emergency which may be helpful for
the practice of democracy in India.

OR

Read the passage given below carefully and answer the following
questions :

In the light of these events, the response of the government was to
declare a state of Emergency. On 25" June, 1975, the government
declared that there was a threat of internal disturbances and therefore, it
invoked Article 352 of the Constitution. Under the provision of this
Article, the government could declare a state of Emergency on grounds of
external threat or a threat of internal disturbances. The government
decided that a grave crisis had arisen which made the proclamation of a
state of Emergency necessary. Technically speaking, this was within the
powers of the government, for our Constitution provides for some special

powers to the government once an Emergency is declared.

) Analyse the grave crisis that compelled the government to impose
a state of Emergency in the country.

(ii)) Identify the two special constitutional powers which the

government gets once Emergency is proclaimed.

59/4/1 9 P.T.0.



’EIS?E
IIEISF.- fa feu U e w1 wrgds erEA dife ot frafafea we % W
fafau -

BTcAeh Jvefietor o foTw s T e ar a8 7 o oft denfishi
HH W § UH R O Wifed g B | TEH IS Wk & foh U,
AR IR ArEHifg % Fdan ATfasehrt A fava & fafim 9 & i 9=
1 wifd W @reh 3 | 7o § 99 U (Ygu) A dhis o off @t 38
[sgaTg hl AR T | 36 a8 AT gH g 31T L Tehd & foh THeNfireh!
T ITE BN HeH o diieh W IS | BH 319 s | {59 &7 @ died 2 3 &d
g Sfed o IR A 8 o W gred § — TEnfeh! 1 39 9T TE 9e |
(1)  WENfERl 9 fopH TehR Rellhtul i HERIAT YGH i ?

(i) “IvTR T FE-STATH LR 8 |7 38 U I =ATFE 3gs |
(iii) ek gwTa ST ATl foReg 31 Tt % 3ereww dife | 1+2+2=5
arera
f= feu MU o w1 eHgEe AR i iR Fefaied Tl % I
faRau :
Juiehtur o gioTH g9 X W 93 B a9 oft 3ol T W BId & | BH S 3
WA-Hd-T89d & 319a1 TEd & — O W 38R TE ToR 37T 2 | 89 59 srat
1 S TR FEd & 9 A o vl % SR § 9 At § | At &
TEp(dh J9E1 H o@d §C 39 Wl a9a e @ 6 uw ulean fawa i
FERIT W GaU Tt | TR ¥ g BIAT & Hifeh ovelehtul HEh e
THEYA o AT & | HiEehideh GHETdl &1 I8 A Ta fop fopelt fova-weanfa w1
3T B @ 2 | fova-memia % AW W ey Iy foave woufvedt @esfa @
ST T 2 | 90 ATER{deh avdenill o $® GehNicHs 98 it 7 |
(i)  ETEhdeh TSIl 8 HIERidh dT=eR fohe TR foe 8 2 T8 i |
(i) it e aftas gwEl ¥ T TEEATTEG 1 GR Sedl @
HHl T8, TERATG FEh{dh oAl ol Bie A1, TERId 1 TRERR BT
2 1”39 %A & 9 ° HIE o geera iR | 2+3=5
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Read the passage given below carefully and answer the following

questions :

While globalization is not caused by any single factor, technology remains
a critical element. There is no doubt that the invention of the telegraph,
the telephone, and the microchip in more recent times has revolutionised
communication between different parts of the world. When printing
initially came into being it laid the basis for the creation of nationalism.
So also today, we should expect that technology will affect the way we
think of our personal but also our collective lives.
) How has technology aided globalization ?
(ii)  Globalization is a multi-dimensional concept. Justify the statement.
(iii) Give examples of any two events or happenings that have a global

impact.

OR

Read the passage given below carefully and answer the following
questions :
Globalization affects us in our home, in what we eat, drink, wear and
indeed in what we think. It shapes what we think are our preferences.
The cultural effect of globalization leads to the fear that this process
poses a threat to cultures in the world. It does so, because globalization
leads to the rise of a uniform culture or what is called cultural
homogenisation. The rise of a uniform culture is not the emergence of a
global culture. What we have in the name of a global culture is the
imposition of Western culture on the rest of the world. But there are
some positive aspects of cultural globalization as well.

) How is cultural homogenisation different from cultural
heterogenisation ? Explain.

(i)  “Sometimes external global influences simply enlarge our choices
or modify our culture without overwhelming the traditional
system.” Give three illustrations to prove the statement.

59/4/1 11 P.T.0.



19. = fu Tu S w1 eHgEs stewE Hifve i fEfafgd g % SW
fafe .
T G I IHIA ITES o Q-1 el § g8 off | 369 S T har 2 |
g aret 4 o9 faumt ¥ e R wdt-aret % TR 9 W foe g6 si % ug
ShTeA <l ATAM € ST | a9 faumT 7 Fgafd ¢ & SR L e | s8tE, o
faum 4 wad-amit % e fafmtar & FHF &1 TE Zhe aaTis $TuTd %
e arrefed U fean | 399 e aral § U9 987 g3 3R I TR 6 39 Hed
%1 fotrg fomam | T oy o) et ST@s & o= saehl § off % T | &
<1 uriifeufaeht 3t anifefes 9o & gl 52 Hara o4 o |

G)  feu U srgduer § foRE S 3Teied hl ==l hl TS B ? 39 ITeiAd &

JFRGT Y& T o ?
(i) 39 3Tgie | for arfifeufaehl qem omfdfer Siwor <6 HEi ol Iawm 7= o 2
(iii) 39 3Tedd hl ITATERT ol ISR HIfNT | 142+2=5

Read the passage given below carefully and answer the following

questions :

The movement began in two or three villages of Uttarakhand when the
forest department refused permission to the villagers to fell ash trees for
making agricultural tools. However, the forest department allotted the
same patch of land to a sports manufacturer for commercial use. This
enraged the villagers and they protested against the move of the
government. The struggle soon spread across many parts of the
Uttarakhand region. Larger issues of ecological and economic

exploitation of the region were raised.

1) Identify the popular movement which is being referred to in the
given passage. What was the novel aspect of this movement ?

(ii))  Which issues of ecological and economic exploitation were raised in
this movement ?

(iii) Highlight the achievements of this movement.

59/4/1 12
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20. = fou T foa o eamyEs st e o frmfafad wwt % s fafew

()  fean gam o, 1991 @ wrRa 6 fore ifa @ weife g 2
(i) SR feu 7u foz A <wis w2 Hifq & 7ew A == HiSy |
(iii) SR (T.UH.3.0.T4.) H YRd I gfieht 1 qedrehd hifr | 1+42+2=5

Study the picture given below carefully and answer the following questions :

(1) The given image refers to which policy of India since 1991 ?
(ii))  Explain the significance of this policy as shown in the image above.

(1i1) Evaluate India’s role in ASEAN.

13 P.T.O.
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Fie:  FHECTRET I97 FT FIBFTAT QAL & 1078, J97 &1 20 & T T8 :

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)  SNRAM (T.UE.3.U.TH.) 1 foaeqa 9 =1 2 ?

(20.2)  STRIM (TL.UE.3.U.UA) § WA <l YfFehT 1 Jedieh HIfT |

(20.3) 31U AT ST & I9H o foC = &b A0 A F MR 2 1424225
(20.1) What is the full form of ASEAN ?

(20.2) Evaluate India’s role in ASEAN.
(20.3) What did the Chinese do to break from their economic stagnation ?

21. WRA o f¢U U ToHIfds @I-AHREE (Y8 16 W), H 9= TSI ol
@, ®, ©, ® @ g gutar T R | A & T AR b ATER W
TS 1 g iV 3R I0 ST-GfEdesT O $eh @@l ™, T i TS
SR hl ShH GE&IAT qAT Traf-ad &R, = < T8 difaen! & &9 | fiau :

TN <Rl TS SR
<l HY-IET

(i)

Trafegd 378% TSI &1 94

(i1)

(iii)

(iv)

(v)

(i) 98 TSI TGl 1957 — 59 Th HIUF YT 1 IMEA &l o |

(i) 98 TS Sal IR foham Ifem, forami 1 e Teama awe of |

(i) o8 ST &7 TEAATE ST TREY §a |

(iv) YT o q&d 991 TST |

(v) 98 USY gl fead 9o afsha o | Ix5=5

59/4/1 14



In the given political outline map of India (on page 16), five States have
been marked as @), @), ©, ® and E). Identify these States on the
basis of the information given below and write their correct names in
your answer-book along with the respective serial number of the

information used and the concerned alphabet as per the following

format :
Sr. no. of the Concerned Name of the
information used Alphabet State
(i)
(ii)
(i)
(iv)
v)
) The State where the Congress Party was not in power from
1957 — 59.

(ii)) The State where Bharatiya Kisan Union was a prominent

organization of farmers.
(111) The State where the Naxalite movement started.
(iv)  The youngest State of India.

v) The State where the Dalit Panthers were active.

59/4/1 15 P.T.0.
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34 4.

21 & foTu

For question no. 21

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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Fig:  FAElCRgd 3T @ac giRanEa ghandat & o, ye e 21 & &9
wE:

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) 3" USY 1 99 TIRgu S8t 1957 — 59 ek, Hild T bl IMET &1 o |
(21.2) TorE TST # wRA foram Iiem frami shi T Teama g off ?

(21.3)  THECIETE G WA % ke U9 | TRY gaT ?

(21.4) YT % G908 AT (F1) TS SHH-AT 8 ?

(21.5)  gfera dud vra o forg U= | |fsha 9 2 I1x5=5

(21.1) Name the State where the Congress Party was not in power
from 1957 — 59.

(21.2) Bharatiya Kisan Union was a prominent organization of
farmers in which State ?

(21.3) In which State of India did the Naxalite Movement start ?
(21.4)  Which is the youngest State of India ?
(21.5) In which State of India were the Dalit Panthers active ?

Qg g
SECTION E
22. fava & q@l 7ret % wailues wiearel <1, @iforrd 99 1 foeed TepeaTd, e
B T 2 forgl ©8 SR ol Tse Hifeu | I1x6=6
AYAT
3ftd Ig o SRE BT Hi Bg’ qun ‘o e, gFl % foru i dH-dE
HROT T HITY | 3+3=6

Why did the Soviet Union, the second most powerful country in the
world, suddenly disintegrate ? Explain any six reasons.

OR

Explain any three reasons each for the ‘arms race’ as well as the ‘arms
control’ during the Cold War.

59/4/1 17 P.T.0.



23. US| % HHY GUIfAd THAGH @al § FUed o U dgarmees gee i
JATITIHAT Shi ST FHITAT AT Y FHAT ITH A o [oTC U AT | 2+4=6

AT

qRA ! Y TS YL INUG 1 TARM W F1 ST MY ? i I b
g | 2x3=6

Explain the need for cooperative security as a necessity in dealing with
possible contemporary threats to the nations and suggest the methods to
achieve it.

OR

Why should India be made a permanent member of the U.N. Security
Council ? Give any three arguments.

24, AR < W UBSA 2R hH Arehdities Torife #, foaft wrfda s wfirnr, S feegpa

3 oft, = vl hifu | 6
AT

BeUee R AN % 9Rd &9 § foo o fofu Ioerht wedrsti &1 avi

HIfore | 3+3=6

Describe the role of opposition parties in the first phase of democratic

politics in our country which was quite unique.
OR

Describe the events that led to the merger of Hyderabad and Manipur
with the Union of India.

25. 9Rd § frifaa faeem 2q e T ymfryes st & fohedl i wftommat st guie
i | 2x3=6

YT
T ¢RI 39T U THidg Srefeuase disd & o= g foiy | fau mu
foregil 7 et 1 avia hifv | 2x3=6

Describe any three outcomes of early initiatives for planned development

in India.

OR
Elaborate any three arguments given by the critics against the mixed
model of economy adopted by India.
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26. THI-URHTS Ushdl ohl SQMET aJ o U STl 48%® ¢RI fhU U J=TET ohl

Tlegor T | 6
AT

2@ o fogw <A @ We, wnd A of w1 v wdEm H, 1962 % <

JTSHATT h T ST HeATeh I | 3+3=6

Examine the efforts taken by Jawaharlal Nehru for the promotion of
Afro-Asian Unity.

OR

Evaluate the impact of the Chinese invasion of 1962 in denting India’s

image at home and abroad, both.

27. S q1 HYHR I fRW g < AT 31g=se 370 o foheal oI WYl ol
IR A | T got fou S o SRo Sear i SaeEn § JE R a

foreft wfafsransti o1 ahieror oft Shifdw | 3+3=6
Srera

1980 T % IAfaH I § §U UH fohedl oM eAmshal 1 fawerwor i

ToehT aRa st Terid W e (Taeerht) v et | 2x3=6

Highlight any three provisions of Article 370 which provide a special
status to the State of Jammu and Kashmir. Also examine the two
opposite reactions provoked by this special status among the people.

OR

Analyse any three developments towards the end of 1980s that were to
make a long lasting impact on the politics of India.
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